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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [[ setVI _ETcl’
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

6000 - —&— ECO
5000
4000 ~
3000 -
Warning: col ['FVOEC'] is missing
0 10 20 30 40 50 60 70
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Trend plot forP3-14 0
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P3-14

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS R

06:30 283 150.0 2. 888 RS FiHAe06:30 KREIEF (KREERE)
07:05 283 150.0 2.888 RS FhHA@O7:05 kENFEF (RAfEEE)
08:10 283 150.0 2.888 RS ThHAQO8:10 kENFEF (RAfEEER)
09:05 283 150.0 2. 888 RS FiHA@09:05 KREFEF (REERHSE)
09:45 283 150.0 2.888 RS FmHA@09:45 KENFEF (RAfEEIEE)
10:20 283 150.0 2.888 BE| FiHHe10:20 REFEF (REAEHE)
10:55 283 150.0 2. 888 RS FhHA@10:55 KEFEF (KAHEER)
11:30 283 150.0 2. 888 RS FhHA@11:30 KENFEF (CGRAfEEER)
12:00 283 150.0 2.888 B ThHA@12:00 KENFEF (RA{EREEE)
12:30 283 150.0 2. 888 RS ThHAe12:30 kEIEF (CKAFEERE)
13:00 283 150.0 2. 888 R5| TiHAe@13:00 KHIEF (RAEHS)
13:30 283 150.0 2.888 B5| TnHA@13:30 KREFEF (REAFEESE)
14:05 283 150.0 2. 888 RS ThHAe14:05 KEIEF (CRKAFEERE)
14:40 283 150.0 2. 888 RS FiHAe14:40 REIEF (REERR)
15:15 283 150.0 2.888 RE| FiHRe15:15 REIEF (REERSE)
15:55 283 150.0 2. 888 RS FhHAe15:55 KEIEF (RAMHEESER)
16:40 283 150.0 2. 888 B FiHHe16:40 REIEF (REAEZRESE)
2it]4811.0 (17%) 2550. 0 3EUHKEC: 2080.0, PH: 5.9

P [EKECE (1887.0 vs 3963.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-14 0, Day=71 (2025-06-10)
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P3-14

BfiE) | EBIAT (FD) | ERE (EA/4R) | BEREE(B/R) | XS ERE
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P3-14_0, Day=70 (2025-06-09)
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